|}

M

=23

B Tk

=

THM6HFE RXFRE ()

H:&M64 44

1H

E:.5M7H 3HA31H

GIESEEE)| _ BN Y
FHEE BEETEA W
1. R PTS2E E X R e 3 ) 0 0 0
2. RipmairEifeE g e 0 0 0
3. —RHEEIEE R 1,314, 395 831, 025 483, 370
LR 1~ 3 DaE=IALE (A) 1,314, 395 831,025 483, 370
[izA] _ Hifir ;[
FHEEE BEETERA W
1. R T T o R e S 2,400, 000 2,400, 000 [EES T
g B A . . A
2. RHASIEEHEE T 2,000, 000 2,000, 000 N
3. <ERIEE> A )
T e K S W 0| 5,002 752,000] A 5 002, 752, 00|45 T T
4. <Wpl&EE>
(b2 M e 25 % 3 0 126,825,427 A 126,825 427|%f 5 EE e T
A AT
5. <4FRI&SE>
[ N I TR i & 18 68, 141, 224 3,000, 000 65, 141, 224 s s 4
R HE
b1~ 6 DAFH=IALEH (B) 72,541, 224| 5,136,977, 427| A 5,064, 436, 203
[S2] Hifir ;[
. THEE MEETREA HEW
B B D o) D—® &%
1. TR R He e S b 2, 400, 000 2,400, 000 0 igg”ggﬁig
2. REATEBIHEE 2,000, 000 2,000, 000 0 ;Z&ézﬁz%
3. <FpRIEFE> P I——
L 53 2 B 0| 5,002 752,000] A 5,002, 752, 000|475 4T T
4. <FpRI&EF>
(b2 M e 25 5 0 126,825, 427| A 126,825 427|%f 5 EEcET
B3 CCEIER e
5. <HHISEH> o
[ PRI I R & S 4 68, 141, 224 3,000, 000 65, 141, 224 %g;zﬁg”i 5
FEEWERTE T )
6. —MHGEIEEE I E 1,314, 395 831,025 483, 370
LR 1~ 7 oaE=%HAR (C) 73,855, 619| 5 137,808 452| A 5,063, 952, 833
WY 2 F2%8 (D) = (A) + (B) - (C) 0 0 0




